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iR B D 1 read a story about you and the chimpanzees in a newspaper. It
@ was very interesting. Then, I read some of your books. And now, I really
want to become a scientist like you. Could you tell me what to do to be a
good scientist? (46 words) 12
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fi#&451@ When 1 was in elementary school, I read a story about you and the
chimpanzees. I was really interested. Now, I want to do something to make
the world a better place. However, I do not know where I should begin.
Could you tell me what to do? (48 words)
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